SA-EB B (BH) - NRAY 0l & o p/E-F HIDE2
Arejal 85,357,669 74,370,449 10,987,220
= 13,976,220 13,022,720 953,500
| 774,000 774,000 0
= 70,607,449 60,573,729 10,033,720
HEAR DD 28,440,625 23,748,625 4,692,000
nESIEIREE 28,140,640 23,490,640 4,650,000
HoMYSHYN R 23,106,820 18,616,820 4,490,000
AXARIINME (2NEEX L) 1,500,000 1,500,000 0
308 XX €A S0/ & 100,000 0 100,000
IR EEERCES] 100,000 0 100,000
OESHEZMSAME REALNA (B2 100,000 0 100,000
403 THXI S H S XH2 0l ™ 400,000 500,000 A100,000
01 R SAX 22T 400,000 500,000 100,000
OESHXZHEAME DS
& 400,000,000% 400,000 500,000 £100,000
OIFSHEATINSLMIALIB RS (RINHEXH) 250,000 150,000 100,000
403 RHXISHHI S XH2 0| B 250,000 150,000 100,000
IR L EEES 250,000 150,000 100,000
OO BSZ AT LB HI B RAEAY
& 250,000,0002 250,000 150,000 100,000
O YMOBIIIIRERSOAAHET 150,000 0 150,000
308 XX £ S0/ & 150,000 0 150,000
IR EEERCES] 150,000 0 150,000
ORGSR I2EREOMA
g9 150,000 0 150,000
SRR RN R 20,000 0 20,000
307 QI2+0| 20,000 0 20,000
02 QIR HMAR BT 20,000 0 20,000
Ot 2014 S M YD 2R et & 03 HE X 20,000 0 20,000
SHTARHUNMEHHEN R 4,000,000 0 4,000,000
306 2013 4,000,000 0 4,000,000
NEEE 4,000,000 0 4,000,000
mEET-ETPEVIE: 4,000,000 0 4,000,000
HHOl @ U B 23D T I B o R A 7 100,000 0 100,000
403 RHXISHAI S R0l ™ 100,000 0 100,000
B R ECES 100,000 0 100,000
CHH0I QU B 30T RIEl ol 100,000 0 100,000
HOADGEMNHBHE TS (2T RA) 100,000 0 100,000
403 XX SIS K20l ™ 100,000 0 100,000
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N & 0l & Av S Z M A
NENE-E =D PPN SN NS
HE: NAHBMASRY
Sl XAl RS CERED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
NEF LD 38,305,820 33,936,820 4,369,000
2 4,871,000 4,871,000 0
= 33,434,820 29,065,820 4,369,000
NERE =Y 38,269,450 33,900,450 4,369,000
= 4,871,000 4,871,000 0
= 33,398,450 29,029,450 4,369,000
NP 17,250,400 13,131,400 4,119,000
STNYEH 398,800 323,800 75,000
201 2Bt | 193,800 123,800 70,000
01 Ak 22l 193,800 123,800 70,000
mEETE=1 190,000 120,000 70,000
oszuYEE 2% 190,000,0008 190,000 120,000 70,000
202 01t 5,000 0 5,000
NIEREEL 5,000 0 5,000
TR 5,000 0 5,000
NGSSHAASLAL (RNHYTH) 9,337,100 5,478, 100 3,859,000
306 2913 9,337,100 5,478, 100 3,859,000
NEEE 9,337, 100 5,478, 100 3,859,000
OZMELAAMLS LAY
A 5,059,000,000% 5,059,000 1,200,000 3,859,000
SHOIEI MOl A B BIRE A (ROIRBE X H) 500,000 475,000 25,000
306 2913 500,000 475,000 25,000
NEEE 500,000 475,000 25,000
sENEENTEREE SRR,
23 100,000,0002 100,000 75,000 25,000
ITS=S A AT (EAATHLOIE )M S 4 510,000 350,000 160,000
201 ot FH| 150,000 0 150,000
01 At 22l 150,000 0 150,000
mEETE=1 150,000 0 150,000
OBtrnER 150,000 0 150,000
202 01t 10,000 0 10,000
NIERCEL 10,000 10,000
SEPSU-E RS 10,000 0 10,000
HHOI 2 41 @ 5 & 5,707,700 5,557,700 150,000
2 1,000,000 1,000,000 0
< 4,707,700 4,557,700 150,000
XM CHE2) 01 248 &) 2 ALY 150,000 0 150,000
308 XHXIEHH SO ™ 150,000 0 150,000
01 HASHAL XS 150,000 0 150,000
OXACIZ2I0/ AT A (2N E X ) 150,000 0 150,000
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A & 0l & AF 2 E A A
NENE-E =D PPN SH TSR MY D
Ha: (TR MYOIT TS
Sl TS MSHUX 2 (B9 ®R)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
ICTS & &l Tt 6,274,110 5,473,110 801,000
p] 774,000 774,000 0
= 5,500, 110 4,699,110 801,000
IcTEE Mo TR RS 6,205,200 5,424,200 781,000
bl 774,000 774,000 0
= 5,431,200 4,650,200 781,000
ICTSS MY S E UK 2,054,000 1,433,000 621,000
HIDS VR &l = H & At} (2OIE E X 9) 21,000 0 21,000
308 XX € S 0/ & 21,000 0 21,000
0l A SHHALEES 21,000 0 21,000
CTHDZ VR El X HI & K| 2 A 21,000 0 21,000
SIS ZHAHZLALEE X & 600,000 0 600,000
403 THXISHH S XH2 0 ™ 600,000 0 600,000
02 ZII 2SOl CHEHCH &AM B 600,000 0 600,000
(WSS 2 AEZLHAL ST & 600,000 0 600,000
ICTSE 0l A A Z= X 640,000 510,000 130,000
F=icTsRMYIHER 130,000 0 130,000
201 Lyt HH| 130,000 0 130,000
01 At 22l bl 130,000 0 130,000
mETTE=1 130,000 0 130,000
OFSCICTBHMUSHNANBAILES 130,000 0 130,000
|CTEHE M EH 2 £ & 3,511,200 3,481,200 30,000
p] 774,000 774,000 0
= 2,787,200 2,707,200 30,000
2YRLITBHMATE 2 S 30,000 0 30,000
308 XX €A S0/ ® 30,000 0 30,000
0l HASHHALEES 30,000 0 30,000
(2Y24ITSEMNATHS Y 30,000 0 30,000
HHSYHY (1TSS AAD]) 68,910 48,910 20,000
CET 68,910 48,910 20,000
#H2H A 68,910 48,910 20,000
201 2Ler2 A H| 47,800 37,800 10,000
01 At 22l bl 47,800 37,800 10,000
mETER =3 37,000 27,000 10,000
OJIZASEBERYARERL
A 30,000,0008 30,000 20,000 10,000
202 01t 21,110 1,110 10,000
01 240t bl 21,110 1,110 10,000
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N = 0l & At & Ml A

AT HEZHH YA S RE-E-TEp P
=L B [EPNE-pUpTT
SHRlT XIS Ol LA K ALRI R CEEEED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
HEO U X AHS Dt 12,337,114 11,211,894 1,125,220
= 9,105,220 8,151,720 953,500
< 3,231,894 3,060,174 171,720
Ol X1 & XHROH e 9,917,124 8,792,624 1,124,500
= 9,105,220 8,151,720 953,500
S 811,904 640,904 171,000
X <ol L XTAFS O & 9,673,124 8,548,624 1,124,500
= 9,105,220 8,151,720 953,500
£ 567,904 396,904 171,000
NSO EAAS (Ex) 770,500 462,000 308,500
= 770,500 462,000 308,500
403 A X EHS =0l A 770,500 462,000 308,500
= 770,500 462,000 308,500
01 HXISH =L E 770,500 462,000 308,500
ODE8 XY TLEOR A AL
2 & 567,500,000 567,500 259,000 308,500
= 567,500 259,000 308,500
NOENAANENE(EX) 3,450,624 2,706,624 744,000
= 3,048,720 2,448,720 600,000
= 401,904 257,904 144,000
308 XXM SOIA 3,450,624 2,706,624 744,000
= 3,048,720 2,448,720 600,000
= 401,904 257,904 144,000
01 AXHHBYEES 3,450,624 2,706,624 744,000
OLPGAS Y S I2 S AL
2 & 1,302,000,000& 1,302,000 558,000 744,000
= 1,050,000 450,000 600,000
= 252,000 108,000 144,000
SZo|etE 2tel 72,000 0 72,000
= 45,000 0 45,000
S 27,000 0 27,000
308 XXM SO A 72,000 0 72,000
= 45,000 0 45,000
=) 27,000 0 27,000
01 AXHHBILEES 72,000 0 72,000
OsZIIZeEMIesrErEzA 72,000 0 72,000
= 45,000 0 45,000
< 27,000 0 27,000
HUXSESXXE A 244,000 244,000 0
XSO0 AL 179,000 179,000 0
201 LEt2A | 165,000 65,000 100,000
01 At 2teltl 150,000 50,000 100,000
Oget=2H| 150,000 50,000 100,000
OMUXNEAEE 2 & 150,000,000 150,000 50,000 100,000




AT HEZHH YA S RE-E-TEp P
=L B [EPNE-pUpTT

Sl WHNSSUNSAY CERED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2

307 21201 & 0 100,000 100,000

02 HAHFHYANEEX 0 100,000 100,000

[(ICleandGreentt 2 SO0 BUHSE M A (M H2) 0 100,000 A 100,000

HEES (UK &) 720 0 720

RSN 720 0 720

E Sl 720 0 720

802 gtet=JIEt 720 0 720

01 =nE2x=ttet= 720 0 720

OXGHXREYSE2F2(20134) 720 0 720




